| ACCOUNTING AND FINANCE
Paper - I (Cost Accounting)

- Time Allowed : Three Hours

. Maximum Marks : 100
Part-A ( WIIT-37)
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Part-B ( W TT-9)
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Part-C (WFT-6) |
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Part-1( \FT-33)
What is meant by cost? TR ¥ @0l el &7
2. Give formula for determinatign'of maximum stock level.
Sftrpa b TR S DY G Ao |
3. Name the method of giving remuneration to the workers.
sl P IRARD b AR & -/ aEd |
4, What is meant iy semi-variable overhead?
) o _qRadier guR= & T SR &7
5. State the'mainé of four industries where unit costing is applied.
'Qﬁmaﬁnﬁ%mw@mﬁsﬁma@mmwﬁ
- T & | .
6. If certification of contract price is upto 14 part or more but less than
15 part give the formula for the amount tobe credited in profit adn
Joss account.
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calculating ‘utilisation ratio’ for passenger
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. 10.

11.

12,

13.

E_____ TS |
Give the names of five industries for which process cost accountin g

is suitable.

¥ gfe SErlt & TR Tad R giear A Rty swe wed y)

By what other name non-integral system of accounting is known?

IR Wi < Rty B gEv e T Y SIFT oI §?

Name two items included only in costing books.
I AR orEl F afia & W el < w6 @ M SaRy |
Part-B ( ¥1-¥7)

The details of A and B material are as follows :-

Normal Consumption 10 units per week for€ach.
Minimum Consumption 5 units per week:for each.
Maximum Consumption 15 units per week for each. -

Re-order quantity For A-65 units for B-100 units.
Re-order period For A 3 to Sweeks for B-2 to 4 weeks.
‘Calculate for each material. | f

(A) Minimum stock level.  (B)~Maximum stock level.
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If prime-cost is Rs. 25,000; works cost is Rs.40,000 and office

2 .
overheads are 66 — 9% of the factory overheads, then what would be

the cost of producuon‘7
Af% 7T AP 25,000 . & Tl PRI AR 40,000 v% ar

PRI AT SRS & 66*uﬁm%ﬁhWWWM?

The following information is available relating to a contract for the
half year (26 weeks) ending 31* march 2014 :
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R 2

14.

15.

16.

Wages paid Rs. 1,00,000
Supervisor's salary paid Rs. 11,000

‘The work commenced on 1st October 2013. The wages of workers

for one week and salary of supérvisor for one month were due gt the |
end of the period. Calculate the amount of wages and supervisors
salary to be charged on contract. '

31 9/, 201 4 P A< A I o1 99 (26 TE) B RIT TH 5B
¥ et freifafad J@AN Sueed &

R gBE %. 1,00,000

YURAESR 9a g™l %. 11,000
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A hotel having 100 rooms of which 80% are.normally occupied in’
summer and 25% in winter. Period of summér and winter will be
taken as 6 months each and normal days in'a month be assumed tobe
30. Calculate total occupied room ddys.

ve Bied # 100 TR & R @ wmra: Wi § go wler aer
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Give basic difference ®between reconciliation statement and‘
memorandumi reconciliation account. ' )

FHEM 39307 95 991 R FHIEH G 3§ TS 3 qa15Y |

| Part-C ( WFI-¥)
Record the following transactions in the stores ledger account of A
Itd "

15.1.14 Reciept 250 units costing Rs. 312.50
21.2.14 Reciept 100 units costing Rs. 130.00
24.3.14 | Reciept 50 units costing Rs. 67.50
5.4.14 Issue 55 units

19.4.14 Receipt 50 units costing Rs. 70.00
25.4.14 Issue 300 units

3.5.14 Issue 40 units

There Issues on 5.4.14 and 25.4.14 were priced at LIFO apg FIFO
basis respectably, as from 1.5.14 it was decided to price the issue at
weighted average price. a

v fafice At ©R w8 3 Frefied srwri o oo i

| Scanned by CamScanner



151.14 qifey 250 BRIl AR ©. 312.50

21.2.14 Hfed 100 SHIE Arld %. 130.00
24314 wiftq 50 $PRAI AR ©. 67.50
5414 et 55 go=dl |
19414 qift 50 SHRAl, AP ©. 70
254.14 ot 300 THEAT

35.14 b 40 so=AT
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What do you mean by labour turnover? Discuss the three methods of
its measurement.

' mﬁﬂﬁmwmﬁ%?sﬁqmﬁaﬁﬁfﬁ!ﬁﬁw@l
- Unit-11 (F&E-1L) -

Write short notes on the following.with reference to absorption:

(@) Percentageon direct material cost basis. - N
(b) Percentage on direct labour cost basis, and

() Percentage on prime cost basis.

IqRaE B amhﬂwa%ﬂw«aﬁﬁﬂi%@awﬁmmmwﬁ ’
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Or/ A9
Upto 31¢ December 2014 Rs. 2,26,00 has been spent upon contract
10420, Value of work certified has been Rs. 3,00,000. The cost of
work done but not certified is Rs. 6,000. It is estimated that the
contract will take further three months to complete and will
necessitate the additional expenditure of Rs. 40,000. The total
estimated cost of the contract is to include a provision of 5% of total
cost for contingencies. The contract price is Rs. 3, 50,000, Rs.
2,40,000 have been received to date. You are asked to calculate
“total profit, estimated profit and the proportion of profit to be taken

to the credit of profit and loss account.
31 foa], 201 AP SPIH. 420 TP, 2.26,000 =d f&I W

gt @A o1 P - 3.00,000 T T | SHIORT PRE i
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Unit-TII (3T$-111)

*  Enumerate the various factors which cause difference in results,as

shown _by cost and financial accounts. Also prepare on Imaginary
reconciliation statement in support of your answer.
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RN Or/ g P

Rajputana Transport Company has been.givet a 20km, long route
torun abus. The bus costs the company.d sum of Rs. 4,00,000. Ithas
been insured at 3% per annum and-fhe annual road tax amount toRs.
8.000. Garage rent is Rs. 1,600 perdnonth. Annual repairs is estimated
to cost Rs. 8,000 and the'busis likely to last for 5 years. '_
The salary of the driver 4nd the conductor will be Rs. 2,400 and Rs.

"' 1,600 per month respectively in addition to 10% of the taking as

commission (to beshared equally). The manager's salary is Rs. 5,600

month ad stationery will cost Rs. 400 per month. Diesel and all

will cost Rs, 500 per 100 kilometres. The bus will make 3 round trips
per day carrying on an average 40 passengers in each trip.

Assurhing 15% profit on taking, calculate the bus fare to be charged -

from each passenger per kilometres. The bus will run on an average

25 days in amonth..
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